TNPSC GROUP II/IIA PRELIMS
TEST- 4

Choose the correct statement about Taj Mahal
1. The chief architect of Tajmahal was Ustad Ahmad Lahauri
2. It is the second largest dome in the world
3. Itis a blend of Indian, Persian and Islamic styles
(A)1and 3 (B)1and 2
(C)2and 3 (D) All the above
srgwamme umnlw flumer sgabhanmsd CHFTHeSM0
1. 2. 655 amng evammellf] ereTLIeUT STRLAMTeN 6T &L L L &8 6m6V [BHIL|600TT SLeUTT
2. @8 2 & 6T @evorLmeug QuUflu GelllnmLg &L LLIDMGLW0
3. @& @bBHW, UTFES nMHmID @6eveumilws &L L L& Hemev&Her e dal (h &

&HEVEMEUWIMEGLD
(A) 1 oMb 3 (B) 1 opmiLd 2
(C) 2 bmmIb 3 (D) Gom&s6voTL 3|6m60TES SN

What is the estimated value of calories in a diet as recommended by Dandekar and Rath?
(A) 2,000 Calories (B) 2,460 Calories

(C) 2,250 Calories (D) 2,347 Calories

SeooTCL&T IDMHMILD @TME-3,60 LUFBSlengssLiUL L 2 coorallev 6T(h & &850 & meTer
Geuevoriqul &CeumflulledT Si6mey 6TeoT6oT?

(A) 2,000 &G (B) 2,460 &Geurmifl

(C) 2,250 &Beumifl (D) 2,347 &Geurmifl

Who played a key role in Vellore Revolt?

(A) Tipu Sultan (B) Jameder Sheik Kasim
(C) Hyder Ali (D) Jamal-ud-din

Geusury YL &Sluflev (&R W LIBIG alSGSeIT WITF?

(A) B\ &6 g meoT (B) 2CwLsTT Gags sTHILD
(C) mawsy <16 (D) gomengeor

Which of the following is not a feature of Parliamentary form of Government?
(A) Majority Party Rule

(B) Collective Responsibility

(C) Nominal and Real Executives

(D) Single membership

LD G5 600TL_6UMMIGT [HITLTEBHLOGTM (NN | TFMHISH ST 60T IIDFLD SVEVTH G 6TSHI?
(A) QUEBLLLTETEND QUMM AHTH UL &L FuleT gL &

(B) g (Q\L1 QUITMILIL|600T[T6)]

(C) QuWyeTe] LDMMILD 2_600TEMLNWITEOT BT6U TS & 6T

(D) @hevm 2 miliflerymgey

Match the following
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TNPSC GROUP II/IIA PRELIMS

TEST- 4
Types of Government Country
(a) Absolute Monarchy - 1. Japan
(b) Constitutional Monarchy - 2. Switzerland
(¢) Commonwealth Realms - 3. Bahrain
(d) Direct Democracy - 4. Australia
QUM S &
S| TEF MBS S 60T 6160)5 86T BT &6
(a) WwenwwmerT WP WTLS - 1. gLILmedT
(b) sipgFemnwlievmeor (WOIQUITL G - 2. &L EFTeuMb Sl
() &TETEAING LGS 86T - 3. LIG6m 60T
(d) GBI WE&ESTTLS . 4. 916 &H Credlulm
@ b ©© @ @
A) 3 1 4 2
(B) 4 3 2 1
© 3 4 2 1
(D) 2 3 1 4

Choose the correct statement

1.

Finance Commission is set up once in every 5 years

2. Finance Commission is a temporary body

3. The 14th Finance Commission was set up in 2015. Its recommendations were vaild for the
period from 15t April 2015 to 315t March 2020.

4. 15% Finance Commission’s recommendations on tax sharing between centre and states
are to kick in from April 2020

(A) 1,2, 3o0nly (B) 1, 3, 4 only (C)1,2,4o0nly (D)1,2,3,4

Flwners sahenms CHTHES0H

1.

P &G W BHESTE(HSHERSHES ROMUEND S MEHSEILGE DS

2. BPEGW RO D&M SemLDLIL

3. 14618 BIHHG W 2015-60 AeMDGHSELILLL Sl G 6T LUl HSEIenTseT gligev 1,2015 (LN&H6V
OTFE 31, 2020 aU6MT QF VNS HEHSTGLD.

4. 156018 BIPSGW WSHW WOHOILD WLTHl THET BISLULSTe FTins UFlbaemnT
2020-(LP &6V [HEDL (LM EG 6U(HLD

(A) 1,2,3 DG B)1,3,4wL (O)1,2,4w G [D)1,2,3,4

Who was associated with Independent Labour Party?

(A) Ambedkar (B) Gandhi

(C) Thanthai Periyar (D) Subash Chandra Bose

FSHHT QSTPeTaTT &L FIWL 60T QGSITLTL|6MLUIGIT WITJ?

(A) DCUSST (B) &mh&)

(C) sHemg Quflwmy (D) sumaq FHE FELITeL

Kheda sathyagraha was launched by Gandhi in support of
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10.

11.

12.

TNPSC GROUP II/IIA PRELIMS

TEST- 4
(A) Indigo Planters (B) Mill Workers
(C) Industrial Labours (D) Peasants
CHHT FEHEHUTEHERTHSMS WLMTIHHEG 3.S5TUTH STHF G\&TLBIG 60T
(A) smbhevgasmw afleugmuilser (B) opemev Qs mISleumeTigser
(©) asmhlevgienm Q& mLEleVTET T & 6T (D) efleusmulilsser

National Small Industries Corporation (NSIC) was established in the year

(A) 1950 (B) 1955 (C) 1960 (D) 1965
CsFAW AMesTHlus6r s (NSIC) 2 heaumésas LUl L aU@hLLD
(A) 1950 (B) 1955 (C) 1960 (D) 1965

Which of the following is a multipoint tax?

(A) Goods and Service Tax (B) Value Added Tax
(C) Sales Tax (D) Corporation Tax
LY edTeupeusoteummlev eT& Lisu(Lpemeoteu iflulm@Ln?

(A) 505 IDHoID CFemel allfl (B) w1 Fal () 6urf]
(C) ellmuemeT 6uifl (D) nmmsrml & eurf

Which of the following article of the Indian constitution Provides for freedom of speech and

expression?
(A) Article 19 (1) (a) (B) Article 19 (1) (b)
(C) Article 19 (1) (c¢) (D) Article 19 (1) (d)

BLDE G 600TLeUMMIGT @QHH W TR WevenliNer Ths aqrsHs CLUES MHMID HIHSHNS
QeuafllL@SSID &EHHTEHMS ULHBIGH MSI?

(A) agrd g 19 (1) (a) (B) egu8a1 19 (1) (b)

(C) agrgal 19 (1) (c) (D) eg15a1 19 (1) (d)

Choose the correct pair

(A) Sepulchral temple - Pallip-padai
(B) Jala-Stambha - Water pillar
(C) Sivagnana bodham - Meikandar

(D) All the above
Frflwmer @eneoorenlsd CHIHAS M

(A) 9757 e ssHaLILML0D G LSS 6V - UeTerfll LiemL
Gammuiley eI S 6v

(B) gev-glbuld - B & &evor

(C) PeuEpmest GUMSHLD - QLOUIG 60T LITT

(D) GLoM&600TL. 60)60TS SILD
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13.

14.

16.

17.

TNPSC GROUP II/IIA PRELIMS
TEST- 4
India has signed an agreement with which country, that would allow the two countries to
automatically share tax related information?
(A) America (B) Russia (C) Switzerland (D) China
@QBHWT ThHEH BTLOLET @eneorhg ellfl FUBSIOMET SHoHaleudsemer Lflinmmmls
QS&ITEITET 6L ILIBSHLD QFUISHI6GTETSI?

(A) 91Qwifl&sm (B) gequurr (©) sl sgeunmba (D) Eeorm
Match the following states with the names of shifting cultivation
State Name of shifting cultivation
(a) Assam - 1. Podu
(b) Kerala - 2. Jhum
(c) Odisha - 3. Mashan
(d) Madhya Pradesh - 4. Ponam
LY edTeu(pLD LOMBlevHISGemeT @ L L0mmm CeleTmesoremln QUIWFTEHCETTH QUIMTIHE SIS
LDMBlevLDd @LLWTHM CeueTmeooremLoUledT QLW
(a) Sjevenumd = 1. QuUT(®
(b) Gsyemm - 2. 9991h
(c) epugam - 3. LOITerVIedT
(d) wsHW NFesFID - 4. QLIT6OT6OTLD
@ b @ @
A) 2 1 3 4
(B) 1 4 2 3
© 3 2 1 4
(D) 2 4 1 3
Higher interest rate might induce house holds to but business to
(A) save more, borrow less (B) save less, borrow more
(C) save more, borrow more (D) save less, borrow less
55 allly ofsmars @M GOWLU Sl FTibhEHelenT Q&FwWw

STeooT(H)LD. 21,60TTeV QG ITLA6L B M6 60T BIS 6T

(A) 9@ & Wmer GFLALIL, &6MMEUTS &L 60T 6UITHIE 6V
(B) ®emmeurmeor CHFLALIL], 2B EL0IMT60T &L 60T 6UITMHIE S 60
(C) 1@ &Wmer GFLALIL], FG&HLOTEOT 5L 60T 6UITHIEH 60

(D) @emmeurmeor CEFLALIL, &60MEUTET &L_60T 6T IG5 60

Which of the following is not related to Anti-defection law?

(A) 52nd Amendment Act of 1985 (B) Tenth schedule

(C) 44 Amendment Act of 1978 (D) 915t Amendment Act of 2003
GG 600TLUMMIET &LU_F HMeU6L S0 & FLLSHIL 6T QSTLITL SJVVTH I 6T5I?
(A) 5298 I L5HHSSLD, 1985 (B) ugsmaUSI L L 616D)600T

(C) 44*2 g L5HMHS D, 1978 (D) 9128 g L 5&H &SSO, 2003

Which of the following practices prevailed in pandya country when Marco-Polo visited them?
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18.

19.

20.

21.

22,

TNPSC GROUP II/IIA PRELIMS
TEST- 4
(A) Widow remarriage, Sati
(B) Devadasi system, Polygamy
(C) Sati, Polygamy
(D) Widow remarriage, Devadasi system
LIMesor 9. BT M& MF&HCHTCUTCT au(hend Liflhg CUME LleTau(pld 61HS LIP&HELD
BELLPemDUTleL @BHSS!?
(A) ellgemeu LDMILDEDITLD, 2 L 60T&H L 60L M55 60
(B) G56us & (nemm, LIGVSSITT S ([HLO 60T LD
(C) 2_LatTaL 60 gmIS6D, LIVS TS (HLO6DOTLD
(D) eflsemeu nmineoord, GHeUSTH (LnemMm

Who appoints Electoral Registration Officer?

(A) Election Commission of India (B) Returning Officer

(C) District Electoral Officer (D) Chief Electoral Officer
QUMHETOTT LUF 6 Siavaievemny BlwdliLeuF wmy?

(A) QBHW CHTH6V 246m600TWILD (B) 657560 BLSSID Sigieien]
(C) wrmaul L CaIs56 IH (D) semeveming CH 60 H &yl

Oru Paisa Tamilan was the weekly journal of

(A) Ramalinga Swamigal (B) Vaikunda Swamigal

(C) Iyotheethoss Pandithar (D) Arumuga Navalar

@@ UFTS HLOLP6T eTeoTm QUWIFl6L eumITHHTL LSS flemsenul Q&ML BIS WelF
(A) grwedme Fmudlser (B) emeu@evorL &mLol&6i

(O) SCWMTHHSTE LIewoTlq &1 (D) @,01(0 & HeeT

When did Gandhi launched Individual Satyagraha?

(A) November 1940 (B) August 1940

(C) October 1940 (D) January 1941

SMTHE HeoflBLUT FSHUTHIHID FSHUTERTHEMS TLICLITS Q&ML RIS 60TTT?
(A) meulbLIF 1940 (B) @us6ul 1940

(C) &56LITUl 1940 (D) s26vt6uIf] 1941

Bit Coin means

(A) Fake Currency (B) Virtual Currency
(C) Black Currency (D) Hard Currency

LI ssmudledr eTedTLISI

(A) Gumed Q&Fevmeusvof] (B) mw Q&Fevme 6vof]
(C) &@LiL Q&FevTalevol] (D) s19.60T Q&F6vITEU 6T
Kelkar Committee is established for
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23.

24.

25.

26.

27.

TNPSC GROUP II/IIA PRELIMS

TEST- 4
(A) Banking reforms (B) Corporate reforms
(O) Tax reforms (D) Administrative reforms
BHeVST SHLILLY 6TETLIS 6THMEHTH S eMN&ESHLILIL L SI?
(A) eumI® MG FemLiL] (B) wwiisefler inmiEremnioliL]
(C) aurfl& Q& meTen 8 LDMIF TemLOLIL (D) Bljeuns MG yeninLiL]

Choose the correct statement

1. The Presiding Officer with the assistance of Polling Officers conducts the poll at a polling
station.

2. The district Collector appoints the Presiding Officers and the Polling Officers.

(A) 1 only (B) 2 only

(C)Both1and 2 (D) None of these

glwmer apenmws CaIHESM0

1. QUTEHGE Frally Seuenln Ssvealev] LM eums@&GL LIS javeieuiserfler 2 g el eor
AUMSHGE Fmallguiey CHISHmev BLESSIHMTH.

2. QUMEHGEF FMaI HMEVEND VAT MM UTHGLILT | SeVaIeVTEH6T Lomeul L
S AWTme WL &8 LLH G 6oTm 60T .

(A) 1wL(W (B) 2 b (p\d

(©) 1 wmmib 2 (D) @eummlev eraia)]dl6vem6y

In which year voting rights to citizens of India living abroad were provided?
QeaueflBTH UMD @BHUIS G910&H&HEHEG QUMSHG e aUPBISLILIL L 94600T(H 61512
(A) 2010 (B) 2012 (C) 2013 (D) 2015

During Gupta period, Lokpala refers to

(A) Chief Secretary (B) Financial Minister

(C) Provincial Governor (D) Defence Minister
GLISTGET HTeVEH 60, GELITSHLITEVIT 6TeTLIG! WTenT &GM&HHS51?

(A) B6EVEDD BV (B) pI&) Siemn&&

(C) nmmBlev oLEBBT (D) unsIsTUL SONEFF]T

When there is poor rainfall, the crops fail and the farmers temporarily enter into a poverty

called as
(A) Primary poverty (B) Secondary poverty
(C) Chronic poverty (D) Rural poverty

LIHeULDEMLD GemMmU|LD CLIMGI, elleUF MWD QUITUISS6TTeL MG 2_Lpelfsserfleor
SMHSHTEOLNTEOT 6T LDEMLOTBl6m6V 6TeUU MM HeMP&ESLILIGSH MSI?

(A) W s6LBlemev aumIem LD (B) @evorL_mid mlemey aumiemnin

(©) woMw eumienin (D) |\ gmliLm eumienin

Who wrote the first regular Buddhist work on logic?
(A) Panini (B) Vasubandhu
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28.

29.

30.

31.

TNPSC GROUP II/IIA PRELIMS

TEST- 4
(C) Visakadatta (D) Amarasimha
&T65 Ml FMTTHS (NSEVTEUSI (LD (LD EMLOUITET QLIOTS S HIT6L WITTT6V TSI L &I?
(A) urmeotevof] (B) augup sl
(©) aenes550 (D) sjng&LbLneor

Which of the following is not a Electoral Reforms Committee?

(A) Vohra Committee, 1993 (B) Tanka Committee, 2010

(C) Dinesh Goswami Committee, 1990 (D) Santhanam Committee, 1964
&0 & 600TLeUMOIET CHTSHE ETHHSHSHS G SVVTHSI 61517

(A) Gaumrym &, 1993 (B) Lmasm ¢ w, 2010

(C) ®Geraq Cameveumdl & W, 1990 (D) s merid &, 1964

C.H. Hanumantha Rao Committee, G.V.K Rao Committee, L.M. Singhvi Committee are
related to

(A) State reorganisation

(B) Strengthening the Local Self Government institutions

(C) To abolish the corruption

(D) To strengthen the centre-state relation

G189 bBSTT6 G, Kl.al.Cs. Jmel GUW MM 6Tev.eTlh. il Gw wHweenal
THIL_ 60T QSMTLILI6MLUIGI?

(A) wrplev LM FremLoLiLy

(B) 2_6TemmL& QI MhIG&HMBIG 6T eUaLILIBH &S5 S0

(C) earpemev PGS

(D) nsHW-nmmlev 2 menel euslILI(h) &5

What kind of Tax the GST is?

(A) Direct Tax

(B) Indirect tax

(C) Dependence on the type of Goods

(D) Government sales Tax

GST etetT LI 6TeUUEM S auTfl?

(A) GpBrLg eurf]

(B) nemmaseurf]

(C) 575© HMID CFmaIs6Tl 6T &MWL QUTMISHS S
(D) o7& ellmuement euifl

Bhagat Singh was associated with which of the following?
1. Hindustan Socialist Republican Association
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32.

33-

34.

TNPSC GROUP II/IIA PRELIMS
TEST- 4
2. Bomb thrown on Central Legislative Assembly
3. Second Lahore Conspiracy Case
4. Chittagong Armoury Raid
(A) 1,2 only (B) 2, 3 only
(C)1,2,30nly (D) All the above
L edTeu(peueoTeuMMlev LISE GBI 6TH eI 60T QS TLITL|enLU6UT?
1. amlbgiengmer Gamaedevl. flullefleser 9CaFmH G 60T
2. WSHW FLLIDOTMESH 6V &6voT(h 6555
3. Q@U6nTLIMaUSl 6VMEn] &F) QUGS
4. SILL&MHE QUSLILDLS &8 G560
(A) 1,2 D@D (B) 2,3 (b
(©) 1,2,3wL(BID (D) GLoM&600TL. 2|6Mm60TSH SILN

Choose the correct statement

1. In early period Municipal Corporations were established in Bombay, Madras and
Calcutta.

2. Municipal Corporation in India are generally structured on the pattern of Madras
Municipal Corporation.

3. The tenure of the members of Municipal Corporation is 5 years.

(A)1and 2 (B) 2and 3

(C)1and 3 (D) All the above

Flwmer gaHenmsd CHIHOSH

1. QUL STUSEH6L WLIBSITLE  SemliLs&eT (e, QuLFmev  WwmHmib
Q&EMLESSH TNV gMLIMHSSLILIL L 6T

2. @QBEHWmeilev 2 6T6m IDMHSTTLS emIDLIL|G6T CF 6iTenemuile) embS LOMBE&HTTL G
ML R&HI

3. WwrBRsITLS 2 miliferisefler Lgalsmeuld 5 2,600T(H &6T LG LD.

(A) 1 HmILD 2 (B) 2 omouib 3

(©) 1 wmmib 3 (D) GIoM&600TL. 3|6M60TS SHILD

Satya Gnana Sabhai was founded in

(A) Vadalur (B) Swamithoppu
(C) Rameswaram (D) Chidambaram
FEST) W @HITET FevrLl 6TMHIG BloauLILIL L &?

(A) auLsury (B) sreumAl&Gs UL
(C) pm@enveuyin (D) @by

Industries in India are classified into how many types?
(A)3 (B) 2 © 4 (D)5
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35

36.

37

38.

39.

TNPSC GROUP II/IIA PRELIMS

TEST- 4
QBH WS QABTSLEET 6TeHS 6T auendaeTma L Liflga LUl (B eTerng:?
(A)3 (B) 2 © 4 (D)5

Indian State Financial Corporations gives assistance mainly for the development of
(A) Small-Scale Industries

(B) Medium-Scale industries

(C) Medium and Small Scale Industries

(D) Irrigation projects

@BHUW WTElev  BIFH  BloeeaThi&GeT WHEHWTE  ams  JUmss Qauiw
2 _56|F6TMme6T?

(A) il oyemailevment QG TGV 6T

(B) 0857 emallevmer Q5 mLHl6L &6t

©) O SsT WwmHmid Pl jeTelleVmerT Q& ITLEI60 &6

(D) Byumser S mkige6T

Which of the following tax does not belong to Municipalities?

(A) Tax on advertisements (B) Toll on Highways

(C) Tax on lands (D) Water Tax

B LD G 55600T LU MMIGT BHTTL G oemnliL|&ermev S &H& LTS eulf] eTa?
(A) lerlbUTES 67 LSS meoT 6uifl (B) B 6h&Fmemey &mis aulf]
(C) Blev eurfl (D) B eurf]

Which article states that the President shall hold office for a term of 5 years from the date on
which he enters upon his office?

(A) Article 56 (B) Article 75

(C) Article 73 (D) Article 58

GQUTES SNVl ST VIS ST6 BIOHS CHH) (NS BHSI UL HTVSH NS
GUQUWTHS HMmevalTTs iG] eUGRLILITT 6760l Sa.MIlD 64JH S 6TSI?

(A) 988l 56 (B) eq058! 75

(C) equ531 73 (D) 6947881 58

Which of the following country does not follow multi party system?

(A) Canada (B) France

(C) Germany (D) Vietnam

LI edTeu (HeueoTeUMMIET LiIw &G (emmenl LNeTLmmTS BT 6TS1?
(A) seoTLIT (B) Yymesreny

(C) @i weof (D) W mmid

Which of the following statement is correct about National Income?
(A) The total Monetary value of the goods and services produced by that country over a
specific period of time usually one year
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40.

41.

42.

TNPSC GROUP II/IIA PRELIMS
TEST- 4
(B) Total market value of final goods and services produced within the country in a year
(C) Value of net output of an economy during a year
(D) Total Income received by an individual of a country
Yereupeusoreummlev CH& W euBeumul Lmmiw FiflwmeT oMM 6TSi?
A) e GMUULL STusHEFHE, (QUTSITS @ 3Le0TIQ) 2 MUSH QaFwwliLLlL
LI600T LMl &6T LDMMILD LI6oof 1861160 QLDME S LIeoor 0B L1601 & M&5& LD
(B) eI @L600TIq6V 2@ BITLIQ60 2 MUISH QEuIulILL L @M HIem6y LI6oorLMbIg6T oM miD
Lieoof1&6rfl6r QLTSS FHensd G LILIMEGLD
(C) @ 2b600TIq60T QLITHETMSTTSH 6T Bl&T 2 MUSHUN6T S LILIMEGLD
(D) @® BILIQ aFHG 66T Sl HUGSHGL HemLESLIOUMID QLTSS

6U(HLOTEOT LD
Before founding Vijayanagara kingdom, Harihara and Bukka was under the service of
(A) Hoysalas (B) Yadavas

(C) Kakatiyas (D) Pandyas

axwrpsy CUIFans CHMTHMa&GGL (et amiflamyi WwmmID L&EET Wil Galemev
LUMJ&&60TH?

(A) QammiFmeLyaeT (B) wmseuyser

(C) BM&5H WITes6T (D) LimevorLq Wiy 8s 6T

Choose the correct statement regarding Vijayanagara Kingdom

1. The capital of Kakatiyas was Warangal

2. Vijayanagara rulers adopted the customs of Chalukyass

3. Name of their coin is “Varaha”

(A) 1and 2 (B) 2and 3

(G 1and 3 (D) None of the above
eflgwpsrl Gurrs UMM FFlwmer sadhanms CHIHO S0

1. STHEESEHWTSHETICN &e6eVBST 6UITTHIG 6V

2. NQUIBSET TFTH6T FMTEHESR U STFTEHET 6T LINS&HSHaINGSBIGm6TL LleTumnlery.
3. S|EUF&HEBHE0LUI [HTE00TUILD “eUTTEIT"

(A) 1 oo 2 (B) 2 ommiib 3

(C©) 1 moib 3 (D) GLom&s6v0TL 67516 LOl6Vem 6V

Tamilnadu’s place in Cement Production is
(A) 3 (B) 4t (€)1 (D) 6t

FOWeTL. 2 MHUSH U SLAP&EST 6T @L LD
(A) 320 (B) 42 (C) 128 (D) 622
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43.

44.

45.

46.

47.

TNPSC GROUP II/IIA PRELIMS
TEST- 4

Which part of the Indian constitution provides emergency powers to the President of India?
(A) Part XVII (B) Part XVI (C) Part XVIII (D) Part XV

QHHWS GUUTHS SHMUAGBES CBEGHSHY ST AHSMTSHMS QUPHIGL QHSH W
TR wevennlIedT UGS e1si?

(A) ueE XVII (B) ues XVI (C) ueS XVIII (D) ueH XV

Which article provides for the establishment of the Supreme Court of India?

(A) Article 124 (B) Article 125
(C) Article 143 (D) Article 126
(hg 6458 QBHSH W 2 F5BS LaTmSmS Blae ol OFLISS?
(A) eqrsa! 124 (B) 9788 125
(C) en788! 143 (D) eq05 31 126
Match the following
(a) Slave Dynasty - 1. 1320-1324
(b) Khalji Dynasty - 2. 1451-1526
(¢) Tughluq Dynasty - 3.1206-1290
(d) Lodi dynasty - 4.1290-1320
QUTBHSS &
(a) Sgemn DT - 1.1320-1324
(b) ®evgdl oLy - 2.1451-1526
(c) si&eT8 0L - 3. 1206-1290
(d) Geurrig L - 4.1290-1320
@ b ©© @@
(A) 3 4 1 2
(B) 4 3 2 1
©) 2 3 1 4
(D) 3 4 2 1
Broad Money is
(A) M1 and M2 (B) M2 and M3
(C) M3 and M4 (D) M4 and M1
LTS BlemeuLl LIGOOTLD 6T60TLIGI
(A) M1 nmmitb M2 (B) M2 inmmith M3
(C) M3 wmmib M4 (D) M4 wpmib M1

What is the retirement age of Judges of the High Courts?
(A) 65 (B) 70 (C) 62 (D) 60
o wWrB& neTm BH LIS Herfler eUla] QLIMID 6UUIG 6T60T60T?
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48.

49.

50.

51.

52‘

TNPSC GROUP II/IIA PRELIMS
TEST- 4

(A) 65 (B) 70 (C) 62 (D) 60

“Vault cash in banks and deposits of bank with RBI” refers to

(A) Currency Deposit Ratio (B) Reserve Deposit Ratio

(C) Cash Reserve Ratio (D) Statutory Liquidity Ratio

"QUMBIS ST LIMSISTLIL QUL LSSHF60 606aUsSH (a0 @LIL nMHmID énw elmiGulsv
MEUSH ([(HEHGLD QLOMTHS 606U &6T" 6TeU6UTMI 3P SHEHLILGIRMSI?

(A) Qrmss emeullL] &G0 (B) Qpm&s @@L emelliL] el& g0

(©) Qpmés @@L &S s (D) slLuTel Hiemw e GLD

Which of the following is not a federal feature of Indian constitution?

(A) Independent Judiciary (B) Bicameralism

(C) Division of Powers (D) Flexible Constitution

L edTeu(meusoTeummilev 6T&l @BHH U TR VLI ol LTEF &60Te0LNGH6T 60607?
(A) saBE T HHSSOm (B) Fyeme BITLME@BLO6GTMLD

(©) o a&myL UR ey (D) OpR WD FHAweventoLliL

Who acts as the sole channel of communication between the Council of Ministers and the

Governor?

(A) Advocate General (B) Chief Minister

(C) Chief Justice of High Court (D) Finance Minister

D EFFTHEBHHGLD EBHHEH G @6 CU QGTLITL] LIMTEVLDTS @UHLILIGUT WIT?
(A) memevenLD QUPESHMIEHT (B) whsevemn&FT

(O) 2wih&In6aTm Henevenio HELIS) (D) pI&) Semn&Er

Choose the correct chronological order of the following

1. Meerut conspiracy case

2. Kanpur conspiracy case

3. Peshawar conspiracy case

4. Second Lahore conspiracy case

(A) 1-2-4-3 (B) 3-2-1-4 (C) 3-1-2-4 (D) 1-3-2-4
LY esreuneusoreummlest Fifluimenr &mevalflensemnuls CHIHES M
1. 857l 578 apsHG

2. SIaTLT FHaINES

3. QuUegmaf &5 alP&ES

4. @UEUITLMOUS VMT&a] &FH PSS

(A) 1-2-4-3 (B) 3-2-1-4 (C) 3-1-2-4 (D) 1-3-2-4

Which of the following places in Tamil Nadu, forms a past of second urbanisation in India?
(A) Arikamedu (B)Keezhadi

(C) Uraiyur (D) All the above
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55
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LY edTeu(peueoTelMMIET @ HS WITeN6T @) F6euoTL TN BH&STWINTESL LGH &H6T SLILDBTL 1960
6T Bl (& 6ITEIT6OT ?
(A) 211856 E (B) &ip19.
(©) 2.emmwLiy (D) Gom&s6v0TL. 3|6Mm60TSH SN
Choose the correct statement
1. Persian words were used in Mughal administration
2. Daswant and Basawan were famous painters of Shah Jahan’s Court
(A) 1 only (B) 2 only
(C)Both1and 2 (D) None of these
glwmer gpenms CHIHES0
1. umy€s QUMPICW W&HMWIEET 6T BlFauns QmPluns @;Hs Sl
2. H6QaIbHS LDMHMID LIFI6T HCWITT 69 MR8 Tl 6T Qemelemll AVnI&HES (NHSHW

el eTmelr.
(A) 1 DL (D (B) 2 nL_(pLd
(O 1mmid 2 (D) @eummlev ergiaLdlsvemev

Who stated that “Budget is a document containing a preliminary approved plan of public
revenue and expenditure?

(A) Bastabale (B) Renery Stourn

(C) Philip E. Taylor (D) Adam smith

UL Q3L 6TedTLIG! “(Ln&56V BlemeuullevImenT, FMmids Q& meTeTlILL L QLIS eUheumul nmHmiLd
QFVE B LGNS 2 6T 5P U L,6U600TLOMEG D" 676018 Fnmluleu WITH?

(A) umervL_ LY e (B) Grevfl eru@Lmedr

(C) e E.QL16vF (D) oy L_theuids

Which type of budget compels the government to convey “What is done”, “how much is done”
for the betterment of people”?

(A) Zero-based budget

(B) Outcome budget

(C) Supplementary budget

(D) Vote on account budget

6TIH G 6UEMSITET QU6 Q&6 B LSH 6, ID&SH6T CLOUTL LY METS "6T60Tedl Q&FUICSTLD”,
"eTelaUeTe QFUIGSHTID” eTedTLIeN S Q& flallga Ceauevor(hLD?

(A) LBW eiTe| AFeSSILL LD

(B) sngement auye| Q&Feva s S L LD

(C) siemetor a6 QF6VaSH L LD

(D) m® &G aumsQsBGILL alFe| QFaea s FIL LD

Which constitutional Amendment Act transfered the subject “Education” from the state list

to concurrent List?
(A) 42nd Amendment Act (B) 44t Amendment Act
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59.
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(C) 7th Amendment Act (D) 81t Amendment Act

sHevallemwl LOMBlevL] LIL LG ul6eSl6L @@hHS QUTSILIUL QWSS DMMMIW TR WLeVenDLIL|EF

FLLESHHSHD 6T&?

(A) 4298 | LEHHSSID (B) 4498 g |5 HSH D

(C) 798 FLLSHHSSD (D) 8198 L 5 BHSHSD

Directive Principles of State Policy was adopted from

(A) Candian Constitution (B) Irish Constitution

(C) US Constitution (D) Australian Constitution

375 QB mE CHTLLIMHIGHET 6TRIR BHS 6T(H&aLILL L SI?

(A) BeTLIT THluleveminLiL] (B) jwieurh g & uweveminliL]
(C) 910w &s TFwevenioliL] (D) openSH Credlwim r&HluleveminliL]

Tamil Nadu has how many seats in Rajya Sabha?

(A) 28 (B) 19 (C) 18 (D) 29
LOMBleVmkIG6meneuuiley HLALPBITL LG MET6T @)L MBIG6IT 6788 60)60T?
(A) 28 (B) 19 (C) 18 (D) 29
Match the following
Material Site
(a) Shell - 1.Lothal
(b) Carnelian - 2.South Rajasthan
(c) Steatite - 3.Rajasthan
(d) Copper - 4.Balakot
QUMTHSHSIS.
QUITIH6IT B&ITLD
(a) e - 1. GLM&HSH6V
(b) s&miesled wieor - 2. Q5MG [JIT6M G M0
(c) evielemLL - 3. JITE36M & TeoT
(d) @&y - 4. UMeuGBssITL.
Codes/@mMuiG&ei:
@ Mm @ @@
(A) 4 1 3 2
(B) 1 2 3 4
© 4 1 2 3
(D) 1 4 2 3

Who established Rajamannar commission to analyse and provide recommendations for

restructuring the centre-state relations?
(A) Government of India (B) Supreme Court
(C) High Court of Tamil Nadu (D) Tamil nadu Government

14
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63.
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WSHW-0MElew 2 mesefledr WLMETaLLL GMSSH WTTbBE  UFHSIenTsHenerT
GULDTEIGEUSM TS JTITGLOGITETTH & (L6M6U MG SHS! WIT?
(A) @BH W o (B) 2_g5BH) W6TmLD
() sUllLBTH 2 WFBSeTmLD (D) & Sirs

Which schedule of the constitution deals with the Allocation of seats to Rajya Sabha from
each state?

(A) 4t (B) 7t (C) ot (D) 10t

TR WevemLnLLeor 6TH S 3|L_L_6)em 6007 A1) LOMTB6V & 369 (BB SILD,
IDTBlVBIGETENaISGHE CHIHOSHGSELILLL 2 miliNerigerfler ereoreooll&emnas BlFevorwll
LM So G MSI?

(A) 40& (B) 72& (C) 9o& (D) 102&

During Chola period, who was the viceroy of Mummudi-Cholamandalam?

(A) Chola-Ganga (B) Chola-Pandya

(C) Chola-Lankeswara (D) Chola-Kadaram
GFMPT HMTVEHFH L (NDINF CFMTL LD6DTL 605 S 60T L EBIHI WITT?
(A) G - HEIMS (B) G&mip — LIMmevoTLQ WY
(C) G - @evmIGsHeveUT T (D) Ggmp - &LITILD

Which of the following unit was used for land measurement during the period of Cholas?
(A) Kuli (B) Ma

(C) Veli (D) All the above

L edTeumeleTeuMmIeT GEFMT HMTeVESH60 BHlevsemns 2(6M&H& L1 LWeTUGSSLILL L 6emai(
6TS1?

A) & (B) o

(C) Qeuerfl (D) GLM&H600TL. 2|6M60TS SILD

According to 2011 census, choose the correct ascending order of district with respect of
population

(A) Nigiri, Ariyalur, Perambalur, Theni

(B) Preambular, Ariyalur, Nilgiri, Theni

(C) Perambalur, Ariyalur, Theni, Nilgiri

(D) Perambalur, Nilgiri, Ariyalur, Theni

2011 Q&F6OTF6N LIL, LD&&6T Q&M Q. LLemnLull6y nmeul L migerfleor &ifluwimeor
goaflnsmw CaIHOSH

4) Bev& i, siflwenry, QuIbugT, GHeofl
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(B) Quyiugry, oiflwery, Beo&r], Ggeofl
(C) Qubugry, < iflwer, Gseofl, Hev &l
(D) Quplbugery, Hev &, oiflwispry, GgHeot]

Choose the correct statement
1. Article 32 -Empowers Supreme Court to issue writs for the enforcement of Fundamental

rights

2. Article 226 -Empowers High Court to issues writs for the enforcement of Fundamental
rights and other rights

(A) 1 only (B) 2 only

(C)Both1and 2 (D) None of these

Frflwmer gamenm CHIHE S0

1. eQUsas 32- o2.855 BHLarmLTars  Sgliuaml 2 flenn&Hemer LD6eVMES
BHLICLTmenenr Qeueflul(GID HFH&TFLD Q& Teoor(H6TETS.

2. aqIs5s 226~ Ll 2 flemnseameT emsEGalsme WL GWlern) wmHm
ST BI&HEERHETHID  BHCUTTmeorsemer LImliléeGln H&Emyn 2 wihs
LDGOTMHIHEH G 2_600T(H.

(A) 1D (B) 2 nL_(hLd

(©) 1 mHmid 2 (D) @eummlev eraia)]dlevemney

What is the main objective of National Population Policy-2000?

1. Achieve a stable population by 2045.

2. Reduction of Maternal Mortality Rate to below 100 per 1,00,000 live births

3. Strict enforecement of Child Marriage Restraint Act and Pre-Natal Diagnostic

Techniques Act.

4. Access to information, Containing AIDS, prevention and Control of Communicable
diseases

(A) 1and 3 only (B) 1, 3 and 4 only

(C) 2, 3 and 4 only (D) All the above

CHFW LNES6T QBTN SHE 68 M6Ten&-2000-60T (LNE& G W &M &HECLTET 6T6oT60T?

1. 2045-1D 9600TL9 MG 6IT DG GHET QG Ten &6 BlenevLLI(H) & S!S 60

2. L&UGLM &TVETHE @ME@GLD STUIMFTSHET 6i556m5 1,00,000 GLOTH 6058655
100-&@&Lh BLb (HTUILDITTSHET) C&Mevor(h 6l (IHSH 6V

3. GLHmss H(HLOS S G560 QF UL FLLLID IDMHMILD GLRHns CLIMISTVEH MG
(LNEIT GLPHENGH NG Gevor_mlu]ld FL LD &S weimenm Frfluinenmuiev
QFWLILI(HS SIS
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4. 6Tl en GBIMTUL, QSTHMICHITUISHENET H6OL & QFUISH6, InMMILD &L HLILOSSISH6V
CUMTEITM S &&H6USHN6T G&T(h & &6V

(A) 1 bmMIb 3 LG (B) 1,3 ommith 4 L (HLD
(C) 23 mmih 4 (LD (D) GLom&s600TL {6M60TSH SILD
Match the following
(a) Amatya - 1. Chief Justice
(b) Summant - 2. Commander-in-chief
(¢) Nyayadhish - 3. Foreign Secretary
(d) Sari Naubat - 4. Finance Minister
QUTBSH SIS
(a) Swgwir - 1. He06VENLD HHLIS
(b) &wmHs - 2. HEEVENLD &ETLIS)
(0) PlurTwseq - 3. Qeueflwmeyd Q&wevy
(d) srflameTus . 4. BIS AOWDEFFT
Codes/&MUI(b S&6T:
@ @ @©© @@
A) 1 2 3 4
(B) 2 3 4 1
©) 4 3 1 2
(D) 4 3 2 1
When did the Madras state was renamed as Tamil Nadu?
(A) 1967 (B) 1968 (C) 1969 (D) 1956
QUOLFmen 6T IGLMEI SLALBT®H 6T6dTm QUIWF LmHmUILL L I?
(A) 1967 (B) 1968 (C) 1969 (D) 1956
Match the following;:
(a) Yadavas - 1. Madurai
(b) Hoysalas - 2. Devagiri
(c) Kakatiyas - 3. Warangal
(d) Pandyas - 4. Dvarasamudra
QUMTBSS &
(a) wrseisser - 1. IDSIOT
(b) QammiigmeuiseT - 2. Gxeudf
() BME&EEHWTSH6T - 3. QUITTITMBIG 6V
(d) umesoriqWiseT - 4. oMy FWSH LD
Codes/@MUIB s6T:

@ m @ @
(A) 4 3 2 1
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(B) 2 4 3 1

©) 4 2 3 1

(D) 1 2 3 4

Choose the incorrect statement

(A) Chauth - one-fourth of the revenue of the district conquered by the
Marathas

(B) Sari Naubat - Supreme commander of Cavalry

(C) Hazir majlim - final court of appeal

(D) None of these

Saunrearanss CHJIbHOS 0

(A) Q&g - WIFTSSH W emsLIUMMIWL DML L &SH 60T 6uHeumuiley
BITETER 6L 6(H LIMGIG 6U@GeNHHLILILL S

(B) ol QpeTLS - ST LILILUIN6IT &H6mevemLng & eTLIS

(C) apredly wgedln - Qi Gey Lpemmui (b BH eI

(D) @eumnlev ersiLdlsvemey

Which of the following is incorrect statement about Rajya Sabha?

(A) It is a permanent body not subject to dissolution

(B) Two third of its members retire every two years

(C) Term of office is six years

(D) 12 members are nominated by President of India

LY edTeupeueoTeu M MIl6L LOMHleVHBIG6men6l LiM MU &e6UmITeT Sn MM 6T&51?

(A) @8 m6u5&LILL (PIQUWITS 6(H BITHSTLOMET S{emLILIMTEGLD

(B) simer 2_miliSlerisefley eperTmlev @@ LIKIG @elQalmh @ Teor(h 6UHL Mg EHH G0
616 GlLIMIG 6T M 60T [T

(C) usails smeuld ob,MmI 31,600T(H &6iT

(D) 12 2_miiNeTIsemneT @HSH W Gl UTEE Semeveld BIWLSl&H e ermmF

Choose the incorrect pair

(A) Swadesamitran - Tamil Nadu
(B) Kesari - Maharastra
(C) Yugantar - Bengal

(D) Amrita Bazar Patrika - Bombay
SEUMITET @ eM6uTenlg CHIBHO S0

(A) 565586 S 76T - SWUIRBTH
(B) Gm a1l - D&M TEQ LY [T
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(O) wasbsT - EUMBIGTETLD
(D) oy1llis UMy LSS fl&Han s - LUl

Which Article allows the Governor to nominate one member representing Anglo-Indian
Community to the State Legislatures?

(A) Article 322 (B) Article 333 (C) Article 312 (D) Article 345

S BIRCVT-@QHH I FeNsESHBHS WMHleV FLLINGTMHEIGEHSG @@ 2 milieareny
2@HT BlWA&S 6ThS FI65 aufleGHESMSI?

(A) 7581 322 (B) 758! 333 (C) #ug8! 312 (D) #758! 345

Who drafted the Article 370 of the constitution?

(A) Gopalaswami Ayyangar (B) B.R. Ambedkar

(C) Sheikh Abdullah (D) Hari Singh

TR WevemnLILN6T 9 I8 S 370-M&TE0T eUeMTemed 2_(HeUTHERUleUT WIT?
(A) GamuUmeLE LAl O UIWIMBIST (B) N.oy7.2bCLS ST

(C) Gay s LigleveurT (D) amifl A\

Who was contemporary of Samudragupta?

(A) Srimeghavarman (B) Fahien

(C) Kalidasa (D) Varauchi
FUWPSH TGS T FIOEHTEVS ST WITH?

(A) wof GaseurLnedT (B) umamwimesr
(©) smeflsmer (D) euyms &

Which of the following statements about Mehrgarh is correct?

(A) It is a Mesolithic site.

(B) Itis situated on the banks of a tributary of Sabarmati river in Gujarat.

(C) Itis one of the areas in the world where agriculture and animal domestication
began very early.

(D) It had a multi-pillared Hall (20 pillars in 4 rows to support the roof).

LY edTeuneleTalMMIET QQamFsT LMmMIW dammigsetley Fiflumers 6rgl?

(A) @8 QLEMEHTVEGMNSGF CFIHS @ L LOMGLD

(B) @8 &RrMs55H 60 2 6T6T FUFLOS 2,Mnledr S160)600TWITMHMMEIGNTUI 2]6emL0[bSI6TeTS

(C) @& GeueTmeooTemD LOMMID &HTOHEL GUETITLIENL W& (LETTHTHG GG ITL MG W
2 V5 LIGH G6rflev epedTmMG LD

(D) @8I Li6v STetor LDetoTLLI& 658 Q&M (FH&HS! (SaemTenll SMTHIL 4 auiflengFsserfley 20
SIT600TSH 60)6ITd G & IT600TL_Sl)

In Tamilnadu, which district has the highest Child Sex Ratio?

(A) Cuddalore (B) Thanjavur (C) Nilgiris (D) Chennai
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SUNEEH O 6THS MaIL LD ANFH& GLbHens Limedler el 556058 68 meoor(h 6Temgi?
(A) sLry (B) mebameni (C) hev&1f (D) Q& etrement

Which act established the “Dyarchy System” for the first time?

(A) Government of India Act, 1909 (B) Government of India Act, 1935

(C) Government of India Act, 1919 (D) Government of India Act, 1958
"QILenL L FPemm” (NG60T (NG696L 6THS FL LSS 60T epeuld gmLIBSSLILILL SI?
(A) @B W F& FLL LD, 1909 (B) @b®H W o786 &L LD, 1935

(©) @b®H W oys FLLLID, 1919 (D) @bH W o7s FLLLD, 1958

Choose the correct answer

Assertion (A) : RBI raises interest rate and cash reserve ratio

Reason (R): To control rise in Prices

(A) Both (A) and (R) is true and (R) is the correct explanation of (A)

(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Frflwumer aflemLemwsd CHTHGOSMH

G (A) : @B W fleje eumis el 1y NS SHIGm6TULD QITHES @) LI
S GHIGMETULD 2 WTSSIH M.

&rgeoord (R) : ellemenBummsEans &L BILILIHSS

(A) (A) wmoid (R) &1, (R) - opeora (A)-6or siflwimet ellengsasLn.

(B) (A) mmmiid (R) &1, (R) - aueorg (A)-6tr siflwimet ellengain 96060

(O) (A) &1l eyermev (R) Heum

(D) (A) mougy syeormev (R) &1

80. Match the following

(a) Hazari Report - 1. Unfair trade practices
(b) MRTP act - 2. Industrial licensing
(c) Socialistic pattern of society - 3. Tax and non-tax revenues
(d) Fiscal policy - 4. Public sector
QUMTBS S &
(a) o5l siNHeans -1 (WemmUMM 6U6ol18 [HL6ULY 508
(b) MRTP &L_L1b - 2.Qsmllev 2 flinid
(c) FLGTLD FULSTW (LM - 3. auifl b eurflufleveum U6l
(d) BI® & QameTens - 4.QUTEISHINHM
Codes/@Mui®m &6

@ m @ @
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(A) 2 1 4 3
(B) 1 2 3
© 2 3 4 1
(D) 4 3 2 1

Which Article states that “The state shall take steps to organize Village Panchayats”?

(A) Article 40 (B) Article 43 (C) Article 21 (D) Article 30

"QT& GBIMD LEHFTWSSIH6T gOHLMRSS HLUIG G 6T(HHSH CouetT(hLD” 6TeiTM! Fo MILD
Q753! 61517

(A) eq&gl 40 (B) aq058! 43 (C) eq 7551 21 (D) eqp5 8! 30

Utthiramerur inscription related to

(A) Local self government

(B) Basic rights to the people

(C) Centre relationship

(D) Adminstration of the King

2 GHTCHT HevGaUL (h 6THEIL 60T Q&L 6mLWIGI?
(A) 2_6TenmL & SIIFMTmGLID

(B) D&8&EHHHTT I LUl 2 flemlnser

(C) wsEHW 2_meyserT

(D) oygaiflet BlFeumssLd

When was Palayakkarar system started?

(A) 1801 (B) 1806 (C) 1530 (D) 1665
LMeneTW ST (Wenm eTLICLME CHmMmmIe&HaLILIL L &i?
(A) 1801 (B) 1806 (C) 1530 (D) 1665

Which of the following battle did not involve the participation of Theeran Chinnamalai?
(A) Battle on Cauvery Banks

(B) Battle on Tungabhadra Banks

(C) Battle in Odanilai

(D) Battle in Arachalur

LY edTeuneueoTeummilev SHredt &6oT6oTLN6M6V LIMIGQ S TET6T e GLIMT 6TSI?

(A)smalfl senruley BemL QUMM GUITT

(B) &fisUSHTT HeanTulled el Qumm GUITT

(C) @eLblemeuuiley BemL QUMM GLITF

(D) oiggaaurflev BemL QUMM CUTH
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Which article of the Indian constitution makes the Vice-President as the ex-officio chairman
of the Rajya Sabha?
(A) Article 64 (B) Article 63 (C) Article 70 (D) Article 65

QBB W TR WeenDLILNe), GQWTHS SI6M6TSSm6Val] DMBlevmIGeTenaluler Lga

QL& &MVl TEH @IBLILITT 6T60T FonMID Q19I5 S 6TSI?
(A) eqpss 64 (B) eqs & 63 (C) equss! 70 (D) eqyg i 65

Who appoints the chairman of the State Public Service Commission?

(A) Governor (B) Chief Minister

(C) Prime Minister (D) President

LOMBl6V QUIMSILILI6o0I| ,60)600T LIS S 60T Semeveuem T BIUIOILILIGUT WITF?
(A) s4EBBT (B) waevemwngsy

(C) Yysoy (D) 694Wras semevell

Who heads the Cabinet ministers of the state?

(A) Governor (B) Chief Minister

(C) Advocate General (D) Chief Justice of High Court
DBV NN EFFTNEIE G WaIMES SHMeVEMLN SMTMHIGLIT WITH?

(A) oL@BBT (B) W& v EET

(C) 9LeuBsmsL QgeuT6eL (D) 2 wiBHeTm Hemevenln HH LIS

When was the National Social Assistance programme launched?

(A) 15 August, 1995 (B) 15 August, 1999
(C) 2 October, 1995 (D) 2 October, 1999
BTLB Fens 2 515 S LD eTLICLMS QSTLBISLILILL SI?

(A) @861 15, 1995 (B) op&6n0L 15, 1999
(C) &48GLmur 2,1995 (D) &456LmuIy 2, 1999

Choose the incorrect pair

Soviet Russia

(A) Centralized planning

(B) Indicative planning - France

(C) Rolling Plan - India introduced this plan during 10t five year
plan

(D) None of these

SUDITET @)6meuoTen s CHIHESMH

(A) WS H LD - Gamellwg Fexq.uim

B) &L 9&asT (G HILLWD - LNy mesrev

(C) &1p6L HILLID - 10-6U 8 BHSMeooT(hS S L&H60r GLIMTEI,

@SHLLSMS QBEHWT HMWSLILBSH WS
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(D) @eaummlev ergia]dlevemev

Among Peshwa rulers who was considered to be a good administrator?

(A) Balaji Viswanath (B) Baji Rao I

(C) Balaji Baji Rao (D) Baji Rao IT

GUQAIT QL FWMaTISHEH6T, AMbHS BlIFeUTHWTS SHSLILIG LT WITr?
(A) umeurgd]l ellerveums (B) woseumin LMl mey

(C) umevrrgdl LMl ey (D) @mevorL_mid LImedl Jmey

Choose the correct statement

1. Shaista Khan was appointed as Governor of Deccan in 1660

2. Treaty of Purandar was signed between Shivaji and Jai singh in 11 June 1665

(A) 1 only (B) 2 only

(C) Both1and 2 (D) None of the above

gflumer sahenms CHIHOS 0

1. 166060 Q&FUNEY L &6 5858 T600TS S 60T Q6B IHT TS BIWLO&H& LI LT

2. UUBHST 2 LaTU&HEMS, Feumgd mmib QUM @G 1665 39T 1160

M&HC (DS S TETSI.
(A) 1 (b (B) 2 nL_(pd
(C) 1 nmHotb 2 (D) GumasetorL 61g16 L8l6Lem6V

Choose the correct pair

(A) Micro Manufacturing Enterprises - The investment in plant and
machinery does not exceed Rs.25 lakh

(B) Small Manufacturing Enterprises - The investment in plant and
machinery is more than Rs.25 lakh
rupees but does not exceed Rs.5 crores.

(C) Medium Manufacturing Industries - The investment in plant and machinery
is more than Rs.5 crores but not
exceeding Rs. 10 crores.

(D) All the above

Frfliumer @eneooTenls CHITHO S M

(A) M 2. MUSDH) BIMICIETHIGET - QMM EFTem6L LDMHMILD
D _LIG[J600T RIS @5 & & MeT (LN&6SMH epLIMUl 25
VLEFSH MG W&TN6L @) (H&H8 Celsvor(hLd
(B) 9m1 2 mLISH) BlMIaIETBIGET - QMM EFTem6L LDMHMILD
2 _LIB5[J600T 61 & EH & 85 MeoT (LN&65(h
eHUMU 25 ULFSHMGS AHHITHED BHS
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GHMY &G WISTIID @ [H&Hs Geuletor(h LD

(C©) BESST 2 OLUSHS BloeEThIGET-  QSTPHETEm6 LHMID

D _LIG[T600T 61 & EH & 85 MeoT (LN&65(h

eHLIMUI 5 CHMLEHG B &HIDMEH|LD

10 G&MY&G LIS TIOID @) [HE 60 Geueor(h LD
(D) GLDM&600TL. 2|6060TSH SN

Food Safety and Standards Act was passed in which year?

(A) 2006 (B) 2005 (C) 2011 (D) 1986
6115 S 2b,600T(H 2_600T6Y Ll LITSISTLIL] LDMMILD ST BlFeooTwd FL LD gHUGSSLILL L SI?
(A) 2006 (B) 2005 (C) 2011 (D) 1986

How many seats are Reserved Constituencies in Tamil Nadu Legislative Assembly?

(A) 43 (B) 45 (C) 143 (D) 189
SUOPS FLLEFmUUN6 6THHm60T @)L BIGH6T S60T1505TSGHHHEHHES 25156 1L (H6Temer?
(A) 43 (B) 45 (C) 143 (D) 189

Inflation caused due to black marketing is known as
(A) Profit induced inflation

(B) Deficit induced inflation

(C) Scarcity induced inflation

(D) Credit inflation

&SMLILE shHengsuillermey gmLBGID LIetTelsHs alem s 6TSI?
(A) @euITLIG SMEvoTL 6V LIevoTeT8: 81D

(B) auyey Q&F6v6] LIMMTEHEGenMm SHTeuoTL6V LicooTafs &0
(©) UDHMTHGENM HTE0OTL_6V LIetTe 881D

(D) ssL6r Lisoorefg&L0

Which is the absolute and perpetual power of the state?

(A) Socialism (B) Sovereignty

(C) Secularism (D) All the above

ST T (WEMLOWITET LDMMILD HemLUNLeVTH AP ETTHMS GMILILINB UG 6TSI1?
(A) FLsFIOLD (B) @emmuimevoremLn

(C) nsggamyieremin (D) Gom&600TL. 2|6m60TSH Sl LD

Choose the correct chronological order of Marathas
(A) Shivaji, Sambhaji, Shahu, Rajaram
(B) Shivaji, Sambhaji, Rajaram, Shahu
(C) Shivaji, Rajaram, Shahu, Sambhaji
(D) Shivaji, Shahu, Rajaram, Sambhaji

Page
24



98.

99.

TNPSC GROUP II/IIA PRELIMS
TEST- 4
grliguisefler iflwmer smevalflenFanwlsd CHTH6S M0
A) Feurgd, smbumed), Frany, FTQMFmD
(B) feaurmgd, smbumed], gy, Fran
(©) Feumgldl, prmym, Fmany, Fmnumel
(D) Aeurgl, many, FTQMIMLD, FMDUmel

Arrange the following events in Chronological order

1. Battle of Kanauj

2. Battle of Khanwa

3. Battle of Panipat

4. Battle of Chanderi

5. Battle of Chausa

6. Battle of Ghagra

(A) 3-2-4-6-5-1 (B) 1-2-3-4-5-6 (C) 3-2-6-4-5-1 (D) 6-4-5-3-1-2
LNetTau@LD BlaHLh6&Hemens &iev auiflenaLli1Lb &3I5

1. BeTCeor T CUITH

2. HeoTeUmL] GUITIY

3. umeofliLUL. QUM

4. 5Cs I GUMH

5. QFeTEmLI GUITH

6. SITSHIT GUITY

(A) 3-2-4-6-5-1 (B) 1-2-3-4-5-6 (C) 3-2-6-4-5-1 (D) 6-4-5-3-1-2

Choose the incorrect statement regarding Indian Constitution

(A) The term socialist was added to the Indian Constitution through the 44" Amendment
in 1976

(B) 86t Amendment Act, 2002 inserted Article 21-A to provide free and compulsory
education to
all children in the age group of six to fourteen years

(C) Indian constitution provides for single citizenship. The issued by Union Government is
common to all states.
states across India.

(D) The provisions of Fundamental Rights are enforceable in the court of law when it is
violated.

@B W AT WeevemLDLIL] QSTLTLITET SeUMTET FaMenms CHIHRAS M

(A) FLSTIOLD 6T60TM Q&ML 1976 6V 446G &) (5SS ST 60T eLNeVLD @HF W TH WevemtnLiLNev
CFI&HSLILILL G

(B) 86-aug HHSHE FLLID, 2002 LNifley 21-A, @bM (NS6V LIS ETTENG WSS @G LIL L
NS SIS LHMNSSHEHEHGD @6eValF IDMMID &LLTUS SHeVallenll allpmhIGR M
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O @p®Pw sy enHad GYWflew aPRGHDE, RETHIL T8 QIPHIGLD
S WG 2|6060TSH S LOITIHI6VHI S @15 &G LD TEOTSI.
(D) gyqiuemL. 2 flemwnsgseT  WmLU@W CuUTE Ijemsd HEHIeTmHISGET  Sevor(h LD
LSS 2 FRM,

100. Match the following

(a) BHARAT Mela - 1. World’s largest public work scheme
(b) MGNREGA - 2. Skill development training
(¢) Rurban Mission - 3. Joster research and development
(d) Atal innovation Mission - 4. To connect border areas
QUITHSSIH
(a) umyg Guerm - 1. 2_eu&eT QUIflW QUL Levofl HL_L LD
(b) MGNREGA - 2. HmedT GUTL(B eueTi&FH G S L 1D
() mrues Weagesr - 3. Q6L QLTS MHMILD QU6TITLIL| 2618 &6 5560
(d) SL6eL USEHTES HIL LD - 4. TELEMEVLI LIGDH G6T @) 60)600T8 5560
@ ® @ @@
A) 3 4 2 1
(B) 4 2 1 3
© 4 1 2 3
(D) 4 1 3 2
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1 2 3 4 5 6 7 8 9 10
A C D D A C A D B B
11 12 13 14 15 16 17 18 19 20
A D C D A C C A C C
21 22 23 24 25 26 27 28 29 30
B C A A C C B D B B
31 32 33 34 35 36 37 38 39 40
C C A C C D A D A A
41 42 43 44 45 46 47 48 49 50
C A C A A C C B D B
51 52 53 54 55 56 57 58 59 | 60
B D A B B A B C C D
61 62 63 64 65 66 67 68 69 70
A C D D C D C C B D
71 72 73 74 75 76 77 78 79 | 8o
B D B A A C C C A A
81 82 83 84 85 86 87 88 89 90
A A C B A A B A D C
91 92 93 94 95 96 97 98 99 100
C D A B C B B A A C




